
 

















Constitution of India

Fundamental Duties

It shall be the duty of every citizen of India —
(a) to abide by the Constitution and respect its ideals and institutions,

the National Flag and the National Anthem;
(b) to cherish and follow the noble ideals which inspired our national

struggle for freedom;
(c) to uphold and protect the sovereignty, unity and integrity of India;
(d) to defend the country and render national service when called

upon to do so;
(e) to promote harmony and the spirit of common brotherhood amongst

all the people of India transcending religious, linguistic and regional
or sectional diversities; to renounce practices derogatory to the
dignity of women;

(f) to value and preserve the rich heritage of our composite culture;
(g) to protect and improve the natural environment including forests,

lakes, rivers, wildlife and to have compassion for living creatures;
(h) to develop the scientific temper, humanism and the spirit of inquiry

and reform;
(i) to safeguard public property and to abjure violence;
(j) to strive towards excellence in all spheres of individual and

collective activity so that the nation constantly rises to higher
levels of endeavour and achievement;

*(k) who is a parent or guardian, to provide opportunities for education
to his child or, as the case may be, ward between the age of six
and fourteen years.

Note: The Article 51A containing Fundamental Duties was inserted by the Constitution
(42nd Amendment) Act, 1976 (with effect from 3 January 1977).

*(k) was inserted by the Constitution (86th Amendment) Act, 2002 (with
effect from 1 April 2010).

Part IV A (Article 51 A)
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iii  iii  

 iv  

 v vi  

vii  viii

ix  



320XI – 

1/2 × 10 = 5

ii  ......

iii

iv  ............ 

v

vi

vii

viii

ix ...........? 

ii

iii

iiii



321 XI – 

ivv

vv



322XI – 

1 × 3 = 3

ii

iii

iiii

ivv

1 × 3 = 3

ii

ii

iii

iv

i

ii



323 XI – 

iii

iv  

ii

iii

iiii

ivv

ii

iii

iiii

ivv

ii

iii

iiii

ivv



324XI – 

1 × 3 = 3



325 XI – 

1 × 3 = 3



326XI – 

1 × 3 = 3

1 × 2 = 2

1 × 3 = 3



327 XI – 

1/2 × 2 = 1

ii

iii

iiii



328XI – 

1 × 2 = 2

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii

1/2 × 2 = 1

ii

iii

iiii

ivv



329 XI – 

1 × 2 = 2

ii

iii

1 × 2 = 2

ii

iii

iiii

1/2 × 2 = 1



330XI – 

1 × 2 = 2

1 × 3 =

3

(ii) (ii) 

1 × 3 = 3

ii



331 XI – 

iii

iiii

ii

iii

iiii

ii

iii

iiii

1/2 × 4 = 2

i  ii  ............... 

iii



332XI – 

1/2 × 4 = 2

1 × 3 = 3

iii

1 × 3 = 3



333 XI – 

1 × 3 = 3

1 × 3 = 3



334XI – 

(Marking Scheme XI Class)

1 × 2 = 2

ii

iii

iiii

2 × 2 = 4

ii

iii

ii

2 × 3 = 2



335 XI – 

ii

iii

iiii

1/2 × 10 = 5

ii iii iii

ivv vv vii

viii viiii ixx

xx

1/2 × 10 = 5

ii iii iiii

ivv vv vii

viii viiii ixx

(x)



336XI – 

ii

iii

iiii

ivv

vv

ii

ii

iiii

ivv

ii

iii

iiii

ivv

ii

iii



337 XI – 

iiii

ivv

ii

iii

iiii

ivv

ii

iii

iiii

ivv

ii

iii

ii

iii

iiii

ivv



338XI – 

ii

iii

iiii

ii

iii

iiii

ii

iii

iii

ii

iii

iii

ii



339 XI – 

iii

iiii

ii

iii

iii

ii

iii

iii  

ii

iii

iiii

ii

iii

iii



340XI – 

ii

iii

iiii

ii ii iii ii iiii iii

ii

iii

iiii

ii

iii



341 XI – 

iiii

ivv

vv



342XI – 



343 XI – 

1 × 2 = 2

i

iii

iiii

2 × 2 = 4

ii

iii

iiii

ivv

1 × 1 = 1

1 × 3 = 3

ii

ii

iii

iv

i

ii



344XI – 

iii

ivv

ii

ii

iii

ivv

ii

ii

iii

ivv



345 XI – 

1/2 × 10 = 5

(iii) (iv) 

(v) (vi)

(vii) (vii 

(ix) 



346XI – 

1/2 × 10 = 5

i

ii iii

iv

v

vi

vii

viii

ix

x



347 XI – 

1 × 5 = 5

ii

iii

iiii

ivv

vv



348XI – 

1 × 3 = 3

ii

iii

iiii

ivv

1 × 3 = 3

ii

iii

iiii

ii

iii

iii



349 XI – 

ii

iii

iii

ii

iii

iiii

1 × 3 = 3

ii

iii

iii

ii

iii

iii



350XI – 

ii

iii

iii

ii

iii

iii

1 × 3 = 3

ii iii iii

ii iii iii

ii iii iii

ii iii iii



351 XI – 

1 × 3 = 3

ii

iii

iiii

ivv

1 × 2 = 2

ii iii iii

ii iii iii

ii iii iii

1 × 3 = 3

ii iii iii

ii iii iii  



352XI – 

ii iii iii

ii iii iii

i

1/2 × 2 = 1

ii

iii

iii

1/2 × 2 = 1

ii

iii

iiii



353 XI – 

1 × 2 = 2

ii

iii

iiii

1/2 × 2 = 1

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii



354XI – 

1/2 × 2 = 1

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii



355 XI – 

(ii) 

(iii) 



356XI – 

1 × 3 = 3

ii

iii

iiii

ii

iii

iiii

ii

iii

iiii

1 × 3 = 3



357 XI – 

(ii) (ii) (iii)

1/2 × 4 = 2

1/2 × 4 = 2

ii

iii

iiii

ivv



358XI – 

ii

1 × 3 = 3

ii

iii

iiii

1 × 4 = 4

ii

iii

iiii

ivv

vv

1 × 3 = 3

ii

iii

iiii

ivv



359 XI – 

ii iii iii

ii

iii

iiii

ivv

i ii

iv iv  



360XI – 

ii ii iii

ivv vv vi

viii viii ix

xx

i ii iiii

iv v vi

vii viii ixx

x

i

ii

iii

iv

v



361 XI – 

ii

ii

iiii

iv

iii

i

ii

iii

ii

ii

iii

i

iii

ii

ii

ii

(ii)

(ii)

(iii)

(iv)



362XI – 

(ii)

(ii)

(ii)

(ii)

(iii)

(ii)

(ii)



363 XI – 

(ii)

(i) (ii) (iii)

(i)

(ii)

(iii)

(i) (ii)

(iii)

(ii) (ii)

(iii)

(i)

(ii)

(iii)

(i) (ii) (iii)

(i) (ii) (iii)

(i)



364XI – 

(ii)

(iii)

(ii) (ii) (iii)

(i) (ii) (iii)

(ii)

(ii)

(ii)

(i)

(ii)

(iii)

(i) (ii)

(iii) (iv)

(ii)



365 XI – 

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(iv)

(v)

(i)

(ii)

(iii)

(iv)



366XI – 

(i)

(ii)



367 XI – 

1 × 2 = 2

(i)

(ii)

(iii)

2 × 2 = 4

(i)

(i)

(iii)

1 × 1 = 1

1 × 3 = 3

(i)

(ii)



368XI – 

(iii)

(iv)



369 XI – 

 1/2 × 10 = 5

(ii)

(ii)

(iii) (iv)

(v)

(vi) (vii

(vii (ix) 

(x) 



370XI – 

1/2 × 10 = 5

(i)

(ii)

(iii) (vi) 

(vi) (vi) 

(vii) 

(vii) 

(ix) (x) 

1 × 5 = 5

(i) ...............................................

(ii) ...............................

(iii)



371 XI – 

(iv) ----------------------------

(v)



372XI – 

1 × 3 = 3

(i)

(ii)

(iii)

(iv)

1 × 3 = 3

(i)

(ii)



373 XI – 

(iii)

(iv)

1 × 3 = 3

(i)

(i)



374XI – 

(iii)

(iv)

1 × 3 = 3

(i)



375 XI – 

(ii)

(iii)

(iv)



376XI – 

1 × 3 = 3

(i)

(i)

(iii)

(iv)

1 × 2 = 2

(i)

(ii)



377 XI – 

(iii)

1 × 3 = 3

(i)

(ii)

(iii)



378XI – 

(iv)



379 XI – 

(ii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)



380XI – 

1/2 × 2 = 1

(i)

(ii)

(iii)

1 × 2 = 2

(i)

(ii)

(iii)

1 × 2 = 2

(i)

(ii)

(iii)



381 XI – 

1/2 × 2 = 1

(i)

(ii)

(iii)

1 × 2 = 2

(i)

(ii)

(iii)

1 × 2 = 2

(i)

(ii)

(iii)



382XI – 

1 × 3 = 3

(ii)

(ii) ........... (iii) ..........

1 × 3 = 3

(i)

(ii)

(iii)

(i)

(ii)

(iii)



383 XI – 

(i)

(ii)

(iii)

1 × 3 = 3

(i) (ii) 

(iii)

1/2 × 4 = 2



384XI – 

1/2 × 4 = 2

(i)

(ii)

(iii)

(iv)

(v)

(ii)

1 × 3 = 3

(i)

(ii)

(iii)

(iv)

1 × 4 = 4

(i)

(ii)

(iii)



385 XI – 

(iv)

(v)

1 × 3 = 3

(i)

(ii)

(iii)

(iv)

(i) (ii)

(iii)

(i)

(ii)

(iii)



386XI – 

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(vii)

(ix)

(x)

(i)

(ii)

(iii)

(iv)



387 XI – 

(v)

(vi)

(vii)

(vii)

(ix)

(x)

(i)

(ii)

(iii)

(iv)

(v)

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(iv)



388XI – 

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(iv)



389 XI – 

(i) (ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)



390XI – 

(ii)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(ii)

(iii)

(i)

(i)

(i)

(i)

(ii)

(iii)



391 XI – 

(i)

(ii)

(iii)

(iv)

(v)

(i)

(ii)

(iii)

(iv)

(i)

(ii)



392XI – 

(iii)

(iv)

(v)

(i)

(ii)

(iii)

(iv)



393 XI – 

•

•

•

•

•

•

•

•



394XI – 

1 × 2 = 2

ii

iii

iiii

2 × 2 = 4

ii

iii

iiii

1 × 3 = 3

ii



395 XI – 

iii

iiii

ivv



396XI – 

1/2 × 10 = 5

ii

ii

iii iv

v

vi vii

viii ix

x



397 XI – 

1/2 × 10 = 5

i

ii

iii

iv

v

vi

vii

viii ix

x



398XI – 

1 × 5 = 5

i

ii

iii

iv

v

ii

iii

iiii

ivv

vv



399 XI – 

1 × 3 = 3

(i)

(ii)

(iii)

(iv)

1 × 3 = 3

(i)

(ii)



400XI – 

(iii)

(iv)

1 × 3 = 3

(i)

(ii)



401 XI – 

(iii)

(iv)

1 × 3 = 3

(i)

(ii)



402XI – 

(iii)

(iv)

1 × 3 = 3

(i)

(ii)

(iii)

(iv)

1 × 2 = 

(i)



403 XI – 

(ii)

(iii)

1 × 3 = 3

(i)

(ii)



404XI – 

(iii)

(iv)



405 XI – 

ii

iii

iiii

ii

iii

iiii



406XI – 

ii

iii

iii

1/2 × 2 = 1

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii



407 XI – 

1/2 × 1 = 1

ii

iii

iiii

1 × 2 = 2

ii

iii

iiii



408XI – 

1 × 2 = 2

ii

iii

iiii

1 × 3 = 3

ii

i ii

iii iv

1 × 3 = 3

ii

iii

iiii



409 XI – 

ii

iii

iiii

ii

iii

iiii

1 × 3 = 3

i ii

iii



410XI – 

1/2 × 4 = 2

ii

iii

iiii

ivv

1/2 × 2 = 2

ii

iii

iiii

1 × 3 = 3

ii

iii

iiii

ivv



411 XI – 

1 × 4 = 4

ii

iii

iiii

ivv

vv

1 × 3 = 3

ii

iii

iiii

ivv



412XI – 

ii

iii

iiii

i

iii

iiii

ii

iii

iiii

ivv



413 XI – 

ii

iii

iiii

ivv

vv

vii

viii

viii

ixx

xx

ii

iii

iiii

ivv

vv

vii

viii

viii

ixx

xx



414XI – 

ii

iii

iiii

ivv

vv



415 XI – 

ii

iii

iiii

ivv

ii

iii

iiii

ivv

ii

iii

iiii

ivv

ii

iii

iiii

ivv



416XI – 

ii

iii

iiii

ivv

ii

iii

iiii

ii

iii

iiii

i

iii

iiii

ii

iii

iiii



417 XI – 

ii

iii

iiii

i

ii iii

iiii

i

iii

iiii

ii

iii

iiii

ii ii iii iv

ii

iii

iiii

ii

iii

iiii



418XI – 

ii

iii

iiii

ivv

ii

iii

iiii

ii

iii

iiii

ivv

ii

iii

iiii

ivv

vv

ii

iii

iiii

ivv






